A RESOLUTION BY THE BOARD OF COUNTY COMMISSIONERS OF ST. JOHNS COUNTY, FLORIDA, ACCEPTING A BILL OF SALE AND SCHEDULE OF VALUES, FINAL RELEASE OF LIEN, AND WARRANTY ASSOCIATED WITH THE FORCE MAIN EXTENSION ALONG STATE ROAD 207.

RECITALS

WHEREAS, Richmond American Homes of Florida, LP, has executed and presented to the County a Bill of Sale and Schedule of Values, attached hereto as Exhibit "A", incorporated by reference and made a part hereof, conveying all personal property associated with the force main extension along State Road 207 from Lightsey Road to Silver Lane; and

WHEREAS, Pipeline Constructors, Inc., a Florida corporation, has executed and presented to the County a Final Release of Lien and Warranty for work performed along State Road 207 from Lightsey Road to Silver Lane, attached hereto as Exhibits "B" and "C", incorporated by reference and made a part hereof; and

WHEREAS, St. Johns County Utility Department has reviewed and approved the documents mentioned above, as stated in a memo attached hereto as Exhibit "D", incorporated by reference and made a part hereof.

NOW, THEREFORE BE IT RESOLVED BY THE BOARD OF COUNTY COMMISSIONERS OF ST. JOHNS COUNTY, FLORIDA, as follows:

- Section 1. The above recitals are incorporated by reference into the body of this Resolution and such recitals are adopted as findings of fact.
- Section 2. The above described Bill of Sale and Schedule of Values, Final Release of Lien and Warranty, attached and incorporated hereto, are hereby accepted by the Board of County Commissioners.

Section 3. To the extent that there are typographical, scriveners or administrative errors that <u>do not</u> change the tone, tenor, or concept of this Resolution, then this Resolution may be revised without subsequent approval by the Board of County Commissioners.

Section 4. The Clerk of the Court is instructed to record the Final Release of Lien in the Official Records and file the Bill of Sale and Warranty in the Public Records of St. Johns County, Florida.

PASSED AND ADOPTED this 21st day of February, 2023.

BOARD OF COUNTY COMMISSIONERS ST. JOHNS COUNTY, FLORIDA

By: Christian Whitehurst, Chair

ATTEST: Brandon J. Patty, Clerk of the Circuit Court & Comptroller

Rendition Date FEB 2 1 2023

Deputy Clerk



Exhibit "A" to Resolution

ST. JOHNS COUNTY UTILITY DEPARTMENT 3F - CLOSEOUT - BILL OF SALE

PROJECT: Lightsey SR207 FM Extension

Richmond American Homes of Florida, LP 10255 Fortune Pkwy, Suite	e 150, Jacksonville, FL 32257
Owners Name and Address, (the "Seller") for and in consideration of the sum of Ten and No/consideration, the receipt and sufficiency of which sells, transfers and delivers to St. Johns County, Fe the following personal property:	. ,
See "Exhibit A-Schedule of Values" for the project match the description listed on the "Release of Lie	
successors and assigns, that it is lawful owner of sa	sell the same; and that it will warrant and defend the
IN WITNESS WHEREOF, the Seller has caused its duly authorized office on this 11th of Account	this instrument to be duly executed and delivered by , 2022.
Aly All	NER: Out Out Out Out Out Out Out Ou
	ner Print Name
STATE OF FLOED A COUNTY OF ST. JOHNS	
The foregoing instrument was acknowledged before online notarization, this day of	
Personally Known or Produced Identification Type of Identification Produced	My Commission Expires: 0 20 25 Notary Public State of Florida Amanda M Briar My Commission HH 143929
	Expires 06/20/2025

ST. JOHNS COUNTY UTILITY DEPARTMENT ASSET MANAGEMENT SCHEDULE OF VALUES - SEWER						
Project Name:	Lightsey - SR207					
Contractor:	Pipeline Construct					
Developer:	Richomond Ameri					
Developer.	Kichomona Ameri	can Homes				
	UNIT	QUANITY	U	NIT COST	TC	TAL COST
Force Mains (Size, Type & Pipe Class	s)					
16" DR 25 C900	LF	981	\$	84.09	\$	82,492.29
20" HDPE DR-11 Directional Drill	LF	200	\$	150.17	\$	30,034.00
20" DI Casing	LF	72	\$	187.32	\$	13,487.04
10" DR 18	LF	10	\$	31.00	\$	310.00
	LF		\$	-	\$	-
Sewer Valves (Size and Type)						
16" Gate Valve	Ea	3	\$	9,921.92	\$	29,765.76
10" Gate Vavle	Ea	1	\$	4,780.00	\$	4,780.00
2" Air Release Valve	Ea	1	\$	3,165.00	\$	3,165.00
	Ea		\$	-	\$	-
	Ea		\$	-	\$	-
Gravity Mains (Size, Type & Pipe Cla	ass)					-
	LF				\$	-
	LF		\$	-	\$	_
	LF		\$	-	\$	_
	LF		\$	-	\$	-
Laterals (Size and Type)						
	EA				\$	-
	EA		\$	-	\$	-
	EA		\$	-	\$	-
	EA		\$	-	\$	-
Manholes (Size and Type)						
	EA				\$	-
	EA				\$	-
	EA				\$	-
	EA				\$	-
	EA				\$	-
	***		\$	-	\$	_
			\$	-	\$	-
Lift Station						
Mechanical Equipment	Lump Sum		\$	-	\$	_
Process Piping	Lump Sum		\$	-	\$	-
Process Structure	Lump Sum		\$	-	\$	-
Process Electrical Equipment	Lump Sum		\$	-	\$	-
Other Improvements	Lump Sum		\$	-		
	1	Total Sewe	System	n Cost	\$	164,034.09



ST. JOHNS COUNTY UTILITY DEPARTMENT 3C - CLOSEOUT - RELEASE OF LIEN UTILITY IMPROVEMENTS

The undersigner \$164,034.09	ed lienor, in consideration of the	ne sum	
	and releases its lien and right to ervices or materials furnished t	· · · · · · · · · · · · · · · · · · ·	er, and Reclaimed
6/22/22	to Richmond Ame	erican Homes	
Date	Developer's/Own	ner's Name)	
to the followin	g described property:		
"SEE E	XHIBIT A SCHEDULE OF V	ALUES FOR	
Lightsey SR2	207 FM Extension		
PROJECT NA	ME		
Note: The desc	ription listed should match the	e description listed on the "Bil	l of Sale".
	iver and release does not cove the date specified.	r any retention or labor, service	es, or materials
	TNESS WHEREOF, the Lien ts duly authorized office on		
Witness Signat	Brunn	Lienor's Signature Ronald F. Der Print Lienor's Name	mark
STATE OF	Florida		
COUNTY OF	Bradford		
The for	egoing instrument was acknow	vledged before me by means of	of physical
presence or \square	online notarization, this 22	day of June	, 20_22, by
Ronald E. De		as President	for
Pipeline Con	structors, Inc.		
	own or Produced Identification fication Produced	MARGARI Notary Publi Commission Ay Comm. Ex	TET LOUISE BEST c - State of Florida on # HH 049653 prires Jan 26, 2025 ational Notary Assn.

ST. JOI	HNS COUNTY UT	TLITY DEPART	MENT	,			
	ASSET MAN	AGEMENT		`			
	CHEDULE OF V				- 0		
Project Name:	ontractor: Pipeline Constructors, Inc.						
Contractor:							
Developer: Richomond American Homes							
	UNIT QUANITY UNIT COST					TOTAL COST	
Force Mains (Size, Type & Pipe Class		(3.2.2.2.2	1				
16" DR 25 C900	LF	981	1\$	84.09	\$	82,492.29	
20" HDPE DR-11 Directional Drill	LF	200	\$	150.17	\$	30,034.00	
20" DI Casing	LF	72	\$	187.32	\$	13,487.04	
10" DR 18	LF	10	\$	31.00	\$	310.00	
	LF	10	\$	-	\$	-	
Sewer Valves (Size and Type)		1					
16" Gate Valve	Ea	3	\$	9,921.92	\$	29,765.76	
10" Gate Vavle	Ea	1	\$	4,780.00	\$	4,780.00	
2" Air Release Valve	Ea	1	\$	3,165.00	\$	3,165.00	
	Ea		\$	-	\$	-	
	Ea		\$	-	\$	-	
Gravity Mains (Size, Type & Pipe Cla	ss)	1					
	LF				\$	-	
	LF		\$	-	\$	-	
	LF		\$	-	\$	-	
	LF		\$	-	\$	-	
Laterals (Size and Type)							
	EA				\$	-	
	EA		\$	-	\$	-	
	EA		\$	-	\$	-	
	EA		\$	-	\$	-	
Manholes (Size and Type)							
	EA		T		\$	-	
	EA				\$	-	
	EA				\$	-	
	EA				\$	-	
	EA				\$	-	
			\$	_	\$	-	
			\$	-	\$	-	
Lift Station							
Mechanical Equipment	Lump Sum		\$	-	\$	-	
Process Piping	Lump Sum		\$	-	\$	_	
Process Structure	Lump Sum		\$	-	\$	the state of the s	
Process Electrical Equipment	Lump Sum		\$	-	\$	-	
Other Improvements	Lump Sum		\$	-			

Total Sewer System Cost

164,034.09

Exhibit "C" to Resolution

ST. JOHNS COUNTY UTILITY DEPARTMENT 3E – CLOSEOUT - WARRANTY

Date:	6/1/22	
Project Title:	Lightsey Road - SR207 Forcemain	
FROM:	Pipeline Constructors, Inc.	
	Contractor's Name	
Address:	2117 N. Temple Avenue	
	Starke, FL 32091	
TO:	St. Johns County Utility Department Post Office Box 3006	
	St. Augustine, Florida 32085	
defects in mat		onnection with the above project to be free from all (1) year from the date of acceptance of the project arising with that period at its expense.
	cts shall not be construed as embracing wear and tear or failure to follow operat	damage arising from misuse, negligence, Acts of ing instructions.
Contractor:		
Ron Denma	rk, President	7
Print Contract		tor's Signature
STATE OF	Florida	
COUNTY OF	Bradford	_
	; instrument was acknowledged before	me by means of X physical presence or
	zation, this 1 day of June	, 20 <mark>22</mark> , by
Ron Denma		resident for
Pipeline Col	nstructors, Inc.	1 1 0 0 1
	, ,	Notary Public My Commission Expires: 1/24/25
	nown or Produced Identification ification Produced	MARGARET LOUISE BEST Notary Public - State of Florida Commission # HH 049653 My Comm. Expires Jan 26, 2025 Bonded through National Notary Assn.



St. Johns County Board of County Commissioners

Utility Department

INTEROFFICE MEMORANDUM

TO:

Debbie Taylor, Real Estate Manager

FROM:

Melissa Caraway, Utility Review Coordinator

SUBJECT:

FM Ext Lightsey Rd to Silver Ln

DATE:

November 22, 2022

Please present the Bill of Sale, Schedule of Values, Release of Lien, and Warranty to the Board of County Commissioners (BCC) for final approval and acceptance of FM Ext Lightsey Rd to Silver Ln.

After acceptance by BCC, please provide the Utility Department with a copy of the executed resolution for our files.

Your support and cooperation as always are greatly appreciated.







Date: 1/23/2023

Bill of Sale, Schedule of Values, Final Release of Lien & Warranty

Force main extension from Lightsey Road to Silver Lane Land Management Systems Real Estate Division (904) 209-0782

Disclarmer.
This may is for reference use only, lata provided are derived from multiple sources with varying levels of accuracy. The St. Johns Courty Real Estate Division disclaims all responsibility for the accuracy or completeness of the data shown hereon.

